ol

T dHigko]

o
=]




529 7 -3 6.9 9 7hev] AL ol

® 3 20  @: @

ol sigsh=71?

® 4

[SSRN V)

= ato] o] ATt 6 - (=3)
304 eEZOoZ g a

9,
o]

alll
i
R
i)
po|




@ 4em @)5cm ® 6cm @ Tem ® 8cm

_ 1
BC = 16 - 6 = 10(cm) ©] 22 BM = MC = ;BC = 5(cm)

olt.




4. v IO A A oM A 1 7R 9] AR =7

_A
.7 1IN~
20 I 15
’ 12 A
/ \
~16, \9/

@9 (@)12 ® 15 @ 16 ® 20

At 24 Atole] A=l HoAA Aol Wi 4o &7t €]
712lo| B2 12 o|H.,




@ 26 @32x7

® 7x9

® 26x9

@ 22x3x5




6. TheelH 2t x3? o 47t ohd 2L

@® 24 @ 22x32 B 2x32
@33 ®1
24 o] okl 9 22 93 24 0]7L
32 o] Of4le], 3, 32 0]EE
21 x 32 o ol The T} Pk,
X 1 2 2’ 9° 2¢
1 1 1x2 | 1x2* | 1x2* | 1x2*
3 3 3x2 | 3x2* | 3x2°| 3x2*
3’ 3’ 3x2 | 3°x2° | 3°x2°| 3°x2*




= % 12 HEAY Y

@® 2 @ 3 ® 4 @)5 ® 6

12=22x3 o|B& 5 2} A2 4o0|r},




@)5 ®7 @®)10 ® 15

D 3

Ho

e
A
or
o

‘o
<
B

I

1,2,4,5,10, 20 ©|tt,

whebA ol

5,10 o]t},




717} 8] of4=0] J 45 Frob that Zrk
®3+1—4(7H)
@(1+1)x(1+1)=4 (N
@ @2+1)x(2+1)=9 ()
@ 2+1)x(1+1)=6 (M)
®6+1=7 (M)




10. 5 4 39%x5x112, 32x7Px11¢ o] HAFuj4E F-o1H 34x5x 73 x 113
olth. a+b—c 9 o2 &2 527

® 1 @ 2 @3 @ ® 5

B ~

30 =34 0|82 g=4
=300 p=3,
11¢ =113 o|B& ¢ = 3 o|t},
w2bA a + b — ¢ =4 o[t




11.

n 224, 40 9] Feo|y, FokE
24 9} 40 9] Hfj-FeF4= 8 o],
8 9] k=1, 2, 4, 80|BR

ohebA] T2 1+ 2+ 448 =15 o[t}




BFGC), (H ABCD)L(®H BFGC)

(4

/

—>
AE




nol EFLd M nt1,2xn2FF, n+4 s EF0| 2R
(—1)"+1+3x{—12x"+2x(— n+4}
=1+3x{(-1)+2x(-1)}

=14+3x(-1-2)

=1+(-9)

=-8




o8

Tod

o4

)
%

sl
I
i
Tod

,.:4%0

urel

° @

ol
NI
HH

)
%

X
o

—_—

Spel 917 gk,

o

)




15. A EH P, Q, R ol Higt] o2 5 22 A2

® P//Q, PLR °|®¥ Q//R o[t}
@ P//Q, Q//ROIHPLR °|tt.
® PLQ, PLR °]¥ QLR °Jt}.
@ P1LQ, QLR °]H P//R o]t}
@)PLq. Q//R oW PLR o]t

A AA A 0] WS HHO R BTyl 2o},




